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Because of his sister’s daughter — YNIMR N2 2N

OVERVIEW

1M "1 maintains that the reason the 2131 were 127 12072 by 13 is because of ‘his
niece’; meaning that we are concerned for a cover up. NMooIN explains how there
can be a cover up (if there would be no j17)

— Mt 13 PRYA NYY NaNd NYY
So that he should not cover up for her, if there will be no 27 —

mMdoIN responds to an anticipated question:”
- AYININRT NYD ROV WIN NUN NPINN NNPIN 19799IN N7

For we do not say, place her on the presumptive status of an 2R nwR and

therefore presumably she became divorced just now (we do not make the presumption)
— %395 YUY XNV 1D

Since she is presently divorced (as she stands) before us -

JWIN NYN NOAWD 1YY YW *Hwa nptna AnpIN Na9IN *nw
And in addition (we cannot presume her to be X"X npin2) for on the contrary,
place her in the presumptive status of an ;79w> 7WN (this 717 asserts), that she
was not 77°v21 while she was married.

SUMMARY
We do not assume that she was 17111 while she was an X"X because she 1s a 7w
11°392 and has a Mw> npIn.

' See ovwn "7 >"wA.
> We (presumably) know that this woman was 7 with someone else. The question here is when the divorce
became effective (since there is no j»7). Seemingly since the woman was an @°X nwX, the burden of proof should be
on her that she was divorced when she was 71172. How can he be 75rn? npown addresses this issue.
? Were we to make this presumption then there could not be any 75, for she will be presumed an @°X MWK up until
the present (or whenever there are 0°7¥ that saw her with the v3).
* Since she is currently a 72173, we will assume that this is her status retroactively until we can prove with certainty
at some point that then she was married then. Since this is difficult to prove, the husband will be able to be 79m.
> See "1d (and others) that the two reasons of 11’192 7w and MWD NP together outweigh the X vn7 [pin;
however either one of these reasons alone could not remove the X"X npin. See (however) n"aR # 120, that others
disagree and maintain that they are two separate answers, ¥">v.
® Every person has a N> npir until we can determine with certainty, that they lost that maw2 npt. Regarding this
woman her nw> npin asserts that there was no M. Being with someone while she is a 7115 does not destroy her
mAawd npIn.

1

TosfosInEnglish.com



o1wn 1"7 ' R, A L7"02

THINKING IT OVER
Generally what is stronger; a XnwaT 7pin or a XWp*ynT apm?’

" See n"nx # 127.
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